MATH 180A (Lecture AQQ)

Today: Independent trials

Next: ASV 3.3

Week 5:

o Homework 3 due Friday, February 10
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|nde‘>enclenjr Aials . Binomial disterbution
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|nde\>er\olen’r Avals . Binomial distelbution
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Ficst success time . Geomedcic  distei bution

Kee‘) ro\\ir\3, Let N dencte the fiest coll where 6 &
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Whot s the digteibution of N7

N= ficst success in re?eoﬁeé 'mde?endeh-\ Trials (success cote ).
Mode| Heials with (unlmited number of ) independent Bec(p)s

IN=kY = {X=0, Ka=0 - K =0, Ke= 1}
P(N=k)=

-

Geometric Disteibution  Geom (p) on {23y . s 11



Race evenis. Poisson disteibution
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Potsson  disteibution. Exam P\e
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Polsson  disteibution. Exam P\e
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Summary
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